1.

2.

Under the system of Executive Presidency
(A) Parliament elects the President

(B) People directly elects the President
(C) Electoral college elects the President

(D) Prime Minister and Council elects the
President

How many even numbers are there in the
following sequence of numbers which are
immediately followed by an odd number as
well as immediately preceded by an even
number ?
8676893275342235
52281109

(A) Three

(C) One

(B) Five

(D) None ?Ei%
ﬂ]e Ann . - EI E
ual Financial Statement

constitutes the main d
of the government, ceument
(A) Revenue budget (B) Budget

(C) Balanced budget (D) Capital budget

_Twc‘: numbers are in the ratio 3 : 5. If each
IS Increased by 10, the ratio becomes
S:7. The numbers are

(A) 12, 20
(C) 15, 25

(B) 3,5
(D) 30, 42

" 8% July 2009 is a Sunday, which day of
1e week will 23 September 2013 be ?

(B) Friday
(D) Saturday

\) Sunday
) Thursday

> salt water lake located in Rajasthan is
Dal lake (B) Pulicat lake

Sambhar lake (D) Chilka lake

h among the following is highest in the
> hierarchy ?

1spector General of Police

iditional Director General of Police

puty Inspector General of Police

perintendent of Police
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“The State of Cities Clin}qtc
g, The rﬂP?rit u; :gccntly releat‘ged by the Cities
Ehﬁ&ﬂﬁ WF‘i&i‘tsamcc Leadership Alliance an
th: small 0 dustries Development Bank of
(W) D ia (SIDBY

(8) World Bank
() World Trade O
(D) UNICEF

10. Acculturation is a process of
which results due to contact between

different communities belonging to different
cultures.

(A) Transmissive culture
(B) Cultural change

(C) Shared culture

(D} Both (A) and (C)

Iganisaﬁon (WTO)

11. Inatrain 5 seats are vacant, in how many
ways, can 3 passengers occupy the seats ?

(&) 30 (B) 60
(C) 10 (D) 20

12, Wha
nat number should replace the question

mark ?
7
2
93 7 3
3.n8 . ! ?
(A) 46
(C) 51

(B) 20
D) 66

8. ﬁq%f@ﬁ QMM
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13.

14.

15.

16.

17.

18.

isi and
In India, the main regulatory prgmifril; s
legislation governing bribery and ¢
is the
(A) Indian Company Act

B) Indian Penal Code

fC} Criminal Procedure CPdc t
(D) Prevention of Corruption AC

refers to

. tl
The Globalization e ent of the world

(A) Growing indepe
economies t
Integration between coun!
rélrc%; trade and foreign 1pvcstmcnts
by Multinational Corporations (MNCs)
(C) Decentralization of the economy

(D) None of the above

What is the minimum number of cuts
required to cut a cube into 294 pieces ?

(A) 18 (B) 17

(C) 21 (D) 19

Which type of ribosome present in
prokaryotic cell ? -

(B) ries through

(A) 708 (B) 50S .

(C) 80S (D) 60S S
: HOR|

(5967 — 2437 — 1910) + ? = 27

(A) 60 (B) 50

(C) 65 (D) 45

Recently, the NARCL was registered in
Mumbai with the aim of cleaning up the bad
loans from bank books. NARCL is

(A) National Amount Resolvance Co. Ltd.
(B) National Asset Reconstruction Co. Ltd.

(C) National Asset Resolvance Co. Ltd.

(BJ -National Audit Resolvance Co. Ltd.

The election system in which the candidate
who is ahead of others, who crosses the
winning post first of all, is the winner
called in

(A) Plurality system

(B) Direct democracy system

(C) Indirect democracy system

(D) Dual Party system

The book titled “I Do What I Do” written by
(A) Viral V. Acharya

(B) Raghuram Rajan
(C) Manmohan Singh

(D) None of the above

-4-
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(C) 21 (D) 19
16. IrhiEs (et Fifte 4 3ufesd teerem
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(A) 70S (B) 508
(C) 80S (D) 60S
17. (5967 — 2437 — 1910) + ? = 27
" (A) 60 (B) 50
(C) 65 (D) 45
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(A) Yy e e ot fafies
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hich o™ B cup in 20247 %ﬁ%ﬁ;ﬂ%
N indonesi? (D) UAE (C) 3 B "
oman nt is given followed 22. =g
C)this questiqﬂ:mtg;:;se the condition(s) gﬁgﬁwﬁ%ﬁ (D) g
In ditioxi=: mﬁﬁﬁ . ;

22. two €o” Jogically- . HUT . 3 a?ﬁhﬁn
%ich pest ﬁt(s},me wise man lies. Whoever 3 ?ﬁg&m% n‘a%aaa%] Jm\%r%m
statemel o imitated: Wy
]ics S i . .

ditions ° deserves to be imitated. L. ¥ ey
con man s
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5 0 ! nd 1l are valid S LT

: ((D=  and I are invalid RNALE
the percentage of PAR capture by green 23. & gyen) T e

- plants S (B) 50% (A) 10- 209 wmd
() 10-20% D) 2 - 10% ’ B) 50
() 80% (D) 0 (C) 80% D) 2- 101
24, The EASE 40 rci:orrns agenda’ is related with 24. EASE4) ﬂmm’_____ St
(A) Global taxation reforms (A) aﬁﬂiwffw
(B Manufacturing sector reforms (B) Fiwo g % gem
(C) Higher judiciary reforms (C) I=re =rawiferan & gum
(D) Public sector banks (D) W &7 9%
25. Name the State has achieved excellency in 25. WWWWTW e e &
information technology. y Seged b A ¢ |
(A) Maharashtra (A) TR
(B) Rajasthan (B) ToEH
() Tamil Nadu (C) T
(D) Karnataka (D FAH o
%. Ch . 3 o &4 410
Erl;l;fband Russia inaugurated the first 26. Wﬂquﬂﬂ“ﬂ :
order pipeline between their - 2l
Founies, called as e
() Power of i E et & A a
iberia  (B) Pri { Siberi % (A (D)
(B) Pride of Siberia % 3 L, jatiads

(C :
) Power of China (D) Pride of China

=
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28.

29.

30. C

31.

32.

33.

35.

(274 15]

c
oA

nnel of diameter
be constructe

Aright circular cylindrical tu
a of the iron

is to
lengt 40m 18
heet of iron. The are

ed in m? is
(B) 40m

(D) 200 T
n 5 minutes, along

om and
from a sb
sheet requir

(A) 807
(C) 160 =
ws 1 km i

d 6 kmin 1 h :
e stream 18

(B) 3 kmph
(D) 12 kmph

A boatman 10
the stream an

our against the
stream. The speed of th
(A) 6 kmph

i
(C) 10 kmph @

ountry with largest livestock population 111
the world is
(A) India
(C) China
In which language ‘Gathasapthasha
written ?
(A) Prakrit
(C) Sanskrit
The type of soil used as bricks for
construction of houses is
(A) Laterite (B) Alluvial
(C) Black (D) Arid

(B) Australia
(D) USA

thi’ was

(B) Pali
(D) Brahmi

IORA refers to

(A) Indian Ocean Ring Association
(B) Indian Ocean Rim Association
(C) Indian Ocean Rocket Association
(D) Indian Ocean Range Association

{(é?%al Agreement on Tariffs and Trade
) renamed as World Trade Organisati

WT0) in ganisation
(A) 1995
(C) 1996

(B) 1994
(D) 1997

From the given answer figures, select the

one in which the questi P
embedded. question figure is hidden/

=

B

(b)

2
P

(B) d
(D) ¢

(d)

i 4

¢ oo ~MMg

15\/;,,/ ﬂa

28.

29.

30.

31.

32.

33.
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fer.ﬂéa O{

alns
Poue;nogt%cr flow
B) Zoogamy
b

(B) Temperature
(D) Work

rom the anther
£ er of the same

None of these

India in 2011

. density of
tlop;mrsons per sq.km.
(B) 389

(D) 382
¢ of India introduced the Kisan

[KCC] gcheme in
(B) 1990

(D) 2000

ime police station was

39.
e
# Gogiond
) 199
© 1998
ndie’s first cyber CT
. gpsﬂﬂd at
@ pangalore
© Chennai

40.

(B) Delhi
(D) Mumbai

code, MERCURY’ is written as 41.

41. n  certain R .
How is ‘NEPTUNE’ written 1n

YRUCREM'.
that code ?
(4) ENUPTEN
() ENUTPEN
!, 42. Inplatyhelminthes the body cavity is
‘ [4) Present

IFE (B Occasionally absent

{85 (C) Occasionally present

(D) Absent

(B) EUNTPEN
(D) ENTUPEN

%, g?;ldslilder the following statements about
an Mantri Kisan Samman Nidhi
heme,
L It provides income su
' pport to all
lcﬂglllilioldmg farmers’ families in the
needs? to supplg:rnent their financial
rclatedor procuring various inputs
pories to agriculture and allied
I Underl:;.as well as domestic needs.
armerg’ tl_S St}l}emc, all landholding
nancig] gmlhes shall be provided the
annym ccneﬁt_ of Rs. 12,000 per
€qua] inp r family payable in three
eve stallments of Rs. 4,000 each,
&) o, UF Months, ’

Only ¢

1@ Onj t:}*"t’iﬂierm:nt 1l is correct

[D% Both the ::atemcm Iis correct
None of th a';t";:)frli“»tlts I and II are correct

¢ above

ST
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43.

(C) 349

T TR 3 (D) 387
ER1? i 1 (Fah ) s
(A) 1995
(C) 1998 g éggo
00
WA &1 Uga
7 ST A YR8 22t et e
(A) ST
(B) Rt

T F2 § ‘MERCURY’ # ‘'YRUCREN; foran mt
¥ |36 2 § NEPTUNE' 71 % forar e ?
(A) ENUPTEN (B) EUNTPEN
(C) ENUTPEN (D) ENTUPEN
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45.

46.

47.

48.

49,

50.

51.

M4

A garrison of 750 men has provisions for
20 weeks. If at the end of 4 weeks
reinforced by 450 men,
remaining provision last ?

(A) 15 weeks
(C) 11 weeks

I8 b ’S
iti that, History 1
the definition ary &
i Igﬂ:f art and the youngcst aspira
the 0 ;
become a scic
(A) J. B. Bury

(C) Karl MarX

Secondary produc

(A) formation of new or
consumers _ '

(B) formation of organic matter by
producer _

(C) formation of inor;
decomposeT

(D) formation of inor
consumers

nce" ?

B) St. Augustine
[[D) Arnold Toynbee

tivity is the rate of
ganic matter by

ganic matter by

ganic matter by

happiness
“Happiness
k towards

The State which has sct‘ up a
department and Orgamizes
Camps” to teach positive outloo

life is
(A) Haryana (B) Karnataka

(C) Madhya Pradesh (D) Kerala

Who is the current President of United
Nations General Assembly (UNGA) ?

(A) Narendra Modi (B) Abdulla Shahid

(C) Kamala Harris (D) None of the above

Girish walks 8 km towards east and turns
right and walks 3 km straight. Again he
turns right and walks 12 km straight. Now

how far is he from the starting point ?
(A) 6 km (B) 5 km
(C) 8 km (D) 10 km

An 'jm:rcase in aggregate demand over the
available output leads to a rise in the price
level. Such inflation is called

(A) Credit inflation

(B) Currency inflation

(C) Demand-pull inflation
(D) Deficit-induced inflation
Who invented water frame ?
(A) Samuel Crompton

(B) James Waltt
(C) Richard Arkwright
(D) James Hargreaves

they are
how long will the

(B) 10 weeks
(D) 16 weeks

\
75°
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Virus, which infects the master boot record

56. 3T, S U F el ¥ g e
FHEEA R, Fwamd

Or S : 9
®htation is the basic layout of the slides i 2 %ﬂ‘rgﬁz

56.
of a computer system, is called
(A) Stealth virus (A) VY I
(B) File infecting virus (B) I3e §(ac aTawd
(C) Boot sector virus (C) T2 HATTH
(D) Multipartite virus (D) WeIReE AE 4;%
b
57. Reproduction in Plasmodium is by 57. W\?ﬂ?ﬁ?{?ﬁm _,_.{_BT gg;;
(A) Mlultiplc fusion  (B) Multiple fission (A) 5§ ’ (D) T @
(C) Simple fission (D) Simple fusion () e 320
B8 A monkey climbs 30 feet at the 58, @« P mgﬁmmﬁ % 79
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60. Which State in India is po

61.

62.

63.

66.

a4

pularly known as

“God’s own country” ?
(B) Kerala

(D) Himachal Pradesh

(A) Kashmir

(C) Goa
refers to storing jobs in a buffer

so that CPU can be efficiently utilized.
(A) Loading (B) Relocating
(C) Swapping (D) Spooling

Should all the factories in the cities be

shifted to outskirts far away from the main
city ?
Arguments : O

I. Yes, this is an essential step for
controlling pollution in the city.

II. No, such steps will lead to a lot of
inconvenience to the employees of the
factories and their families as well,

(A) If neither I nor Il are strong

(B) If both I and II are strong
(C) If only Il is strong
(D) Ifonly 1 is strong

Two solenoids of equal number of turns have
their lengths and the radii in the same 1 : 2.
The ratio of their self inductances will be
(A) 1:2 (B) 2:1
€) 1:1 D) 1:4
The part of Himalayas lying between Kali
and Satluj rivers is known as
(A) Kumaon Himalaya
(B) Punjab Himalaya
(C) Assam Himalaya
(D) Nepal Himalaya
What is the main part of the ovule in flower
which is surrounded by two integuments ?
(A) Micropyle (B) Raphe
(C) Nucellus (D) Chalaza
are colourless transition metal
ions.
(A) TE, V¥, V¥ A
() V>, Cr¥, Mn* (D) Cr, M, Mn

(B) Sc¥, Ti*, Zn
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(C) s1um fRwrerg

(D) e fewrerg

i¥
Fﬁﬁ#fﬁ?zﬂg@aqmw?ﬁﬁw 7
wad 7

(A) WTEHIITES B) ¥
(C) =gierw (D) T
e siee g .
(A) Tid, v+, yae (B) sc” m ;‘w
(€) V*, cr*, Mn2 (D) €7 -
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) f the given 1 67.
% t jrro? 'mﬁgzoat line AB. :l@"‘fﬁ A5 = ‘55
e €01 s place AB Ty i
67 ylgféiheﬂ the ™ Rty %Ehm
e A i A thy
(A L:,}, O Q olo alY|?
f— _,____rj ]
.--"""——‘-’] 0 0 ?T 0 G
ﬁ VA o T ) R ] Eﬂ
c) L
B |0 1210 ' e
e Section deals with | 8. Fofafm -LI
: the fo lowing Section o H i
68 g?;;tt]mrfofw ¢ for execution ? fEa 2 waRn Y7 T e s
A) Section 417 of Cr.P.C (A) A
) Section 416 o CT-7 € (B) Hom A, Hwels
(C) Section 418 of Cr.P.C (C) W94, 9 w418
(D) Section 419 of cr.P.C (D) Wem i, A 419
1 1
4 74098
69. The value of 6. (3597 0.948) +(352 nw,i am!
2 7+(.948 iy
[3.53?-0.945)2+(3.53?+0.94s) S 3.597 %333 245
(o vy .
3537x3.537+0.948 x 0.948 EEE (A) 2.585
(4) 2585 (B) 4.485 %ﬁl 4 o1
C) 4 (© _‘
X o at®® g
70. Find the missing number. 70. T g 71 \
3. 19 71, 9 128 32 13\( |
| h, :
10
\( \( Y 47 L
4 10 2 A 13 ;%;:iﬁf; .‘:::
IC) 20 ( qﬂﬂ,ﬂ x i
. The (D) 25 ” 19 e 1:; ﬁ@‘ﬁgkm o
mea:‘lne?nhﬁf 19 observations is 24- If the il ) 20 o -::i
that of t}tl elﬁm" 10 observations is 17 al‘ld g4t i
the 1o ]: ast 10 observations is 24, fin w b "m“ﬂl I”i"lr ,
e asdl o !
C) -4 (B) 65 it w‘"”ﬂ
n, “Long Wall ¢ (D) 37 . (I Wﬁl
(A} Mahat, Freedom” is an autobiogl'ﬁPhl" ¢ (¢
©) Bhagay Q.Ga“dhi (B) Nelson Mand®!®
ingh (D) None of the ab?
A¥
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kel

ith the
tem with
Italy has a parliamentary sys
73. Italy

{ the State
formal head 0 Pp—

ime Minister .
(A) Pri o Presiet

(C) Chancellor
inti ksheet

ile printing the wor
g:tin?s also used if only a s:je
the worksheet is to be printed.

i heet
i ksheet (B) Active s
(A) Entire wor 5 oo ol i 1198

Y ——

74. ICCth pal’t Of

(C) Selection | -
What comes in the place of question mark
2,4,11,37,?

(B) 89

A) 100
t{CJ] 153 (D) 145

In this question, two statements are given

followed by two conclusions. Qhoose the
conclusion(s) which best fit(s) logically.

Statements - g _T
1. All kites are light. EHE

2. All lights are moon.
Conclusions :

I. Some moon is kite.

II. Some light is kite,
(A) Only conclusion I follows
(B) Only conclusion II follows
(C) Neither conclusion I nor Jj follows
(D) Both conclusions I and Ij follow

isa meémory management
scheme that allows the pbrocesses to be

stored non-contiguously in memory,
(A) Virtual memory (B) Primary memory
(C) Paging (D) F ragmentation
78. The organisms in which embryona]
protection and care are better in
(A) Oviparous organisms
(B) Ovian organisms
(C) Vivian organisms
(D) Viviparous organisms

79. Needle : Sew : : Chisel ; ?
(A) Dig (B) Amplify
(C) Magnify (D) Carve

75.

76.

80. In picture toolbar options, :
corﬁmand deletes outer portions of the
image. "
(A) Insert picture (B) Format picture
(C) Reset picture (D) Crop

14

73.

74.

75.

76.

i 9

-12-

78.

79.

80.

& #* 31
DA
2 3.

et
() S (B) ¥z
(©) SN (D) Trszufy
1 file A w73,
ot T € | }
[(c} AT (D) mmam
-2 & T o &1 e 7
(&) 100 - (B) 89
((é} igg (D) 145
ﬁ,ﬁwﬁqm%ﬁ#maﬁw
St | 3 P 3R S i g
FaTa T ¥3d B | 5
Y
1. 9t gam g § | @
2, mﬁmlaﬁél
L. gﬁﬁi’ﬁm‘el
II. & Y1 gam @ |
(A) Fae fspd | STTETO FLar B
(B) e e 11 aepereor aheay 2
(C) 7t el 1941 11 srgercor e 2
(D) aﬁﬁﬁﬁﬁlaﬂtnmwg
= & W wEu @y 2o W
H‘““?’%ﬂwﬁmaﬁﬁmaﬁw
r
O TR () s i
(C) (D) Bde
 fe 5 s e e e e
(A) 3Es g
(B) miurtt sitg
(C) S g
(D) S frer i
‘E§=Fﬁm:: ?
(A) @,
(©) arady (B) wgm
8 (D) 1A :
TR e 3, s il
A) F8¢ g gl
(B) Wiz
(C) ftﬁzﬁm e

Downloaded from www.cclchapter.com

:

8

8¢

99



g _ X
g1, AR T &ﬁ*qmﬁ S~
(A) = W e
(C) 3ursh B) 35 -
82. WA R H TR way Dy M
ABXW, EFTS, 2, \qu' !
(A) IJPO
(C) 1JOP B) Jigp
(D)
83. WEEhIG JIpg
Ty
(A) ﬁ!ﬁh—ﬂ g m ¥
(B) et o gy
gz © T T e il
oL 2 (D) el 31 apkw
84. SAMICE T ey
FAR %%L-ﬁjmh
Biometfic . -gtion.- . (A) h?ﬂm .
# gt (B) Fingerprint o Rt B S5
) EYeS card () Both (4) and (B) ) D) &y
Gt f Modern Economics 85. Wﬂﬁ:malﬁﬂllﬁmﬁmﬁ *
g5, Founding fatherht;u @) J. M. Keynes (A) f;:h B ;fm
yed Mars o e (C) TH o) i
b;étdam smith (P D2 lides | 86- A g
| view option dis;:)la)".sl all the s dﬁm%mﬁuﬁﬂm%l o
86. — . nails. Y ==
magree2t O th(;;nSlide show view (&) Wat{ﬁi{al g{ -;—q:aﬂw
(4) Normal ViEW of the above (C) &= NN
() Side sorter view (D) None . mmmaﬂﬁﬁ‘ﬁ“ﬁ“ﬂm@
L §7. People taking a lot of salt or salty food e v R gt T
B 7 experience water retention in fissuec cells. % .
o gt 7% The resulting swelling is called I(i ; i g: %agﬁgg ,
(F R € 0Smosis : P e d@®e
& = (A) Eden?a. . (B) Revers ) Wlﬂm,mmpﬁlmi‘m )
() Rancidification (D) None of these o ﬁlﬂmﬁ[{ " 0
8. Ifthe p®term of an AP is q and the g™ terms 88. (p+q]aiqaﬂﬂﬁ lm;%ﬁas'-ﬂ t
2 is p, the value of (p + ) term is = (A) 1 i”;a@g%rﬂ‘ﬂ \
1 (B) -1 ©0 aﬁ.mf“fgg?
. (C).U (D) None of these . 7 ﬂ@ﬁ“‘ .
| wltncCh ofﬂlﬂ'fOIlowing is not an advantage of 8 (Hfg-‘ﬁ'ﬂ' fiﬂﬂ’ﬁﬁ “
Met Protocol Television (IPTV) ? " Wﬂﬂ Pl
W) Online 1y payment 8 ﬂfqa?ﬁ at
iC] Better inte %i-ug ffﬂﬁ ' a Mﬁ
rac D)
(D tvity ( aﬂ‘ga B A 4
Tﬁg% T One of the above @aff o ﬁﬂmﬂ M
g ang 20 0dd g 90- ) #
a & ten da 5 ys are t_here m one ycaf .
G5 W) By DS F ©
© Six B) Fou
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91.

93.

95.

English Language

._._’_,—E_'_‘_'-.
effective W
in the blank to M

omplete.

from the
Pickout the most ord e
given words to fill

sentence meaningfully ¢
to teach

aughty-

Anusha requires great
and handle little children who are nl

(A) attitude
(B) patience
(C) aptitude
(D) knowledge

Fill in the blank with appropriate phrasal

verbs from the alternatives given below it.
I shall keep nothing from you.
(A) back (B) from

(C) under (D) on

Give one word substitutes for the
following from the alternatives
given below it.

To isolate, to separate from others

(A) segregate

(B) sedulous

(C) scythe

(D) secluded

Choose the right synonym of the given
word.
CREDENCE

(A) Fearful (B) Trust

(C) Madness (D) Maodest

96.

Fillin the blank with appropriate is adjectives

from the alternatives given below it.

Five boys stood in row.
(A) either (B) each
(D) few

(C) neither

;gmmﬁaﬂtsﬁﬁumﬁwl L
(A) mawm%ﬁr{:ﬂngwm
(B) < o Tl R A I A
(C) e T 7Tt et & ¥ R A

(D) T @ 1§ TEl

97. Tisgm@ﬁ:&ﬂﬁ%?
(A) T 3 Fora w9 @ wIg0 W99 TR avd iy,

100,

ey (B) Rt
[ "a";.
.

"’

C“Ma\l
=t ammn

ﬂlﬁ% 3t oo A= 2 I"q'umh

et

TR iy

T F AR

(B) S ¥ e w9 8 i uEm A s,

T & A B

(c) o % firm w0 @ ofid guaw & el s

EEEECEE

(D) T4 @ =rd 7t

6 T B W F [E AT

2 3l T =1 Tl U W e

(A) =AT=RTT
(B) 3w
(C) WA
(D) T & Fr 7

(A) deay

(B) Afimw

(C) wrfa=rdy

(D) 5 =8 4

ST, v, sy oA —
9T R

™ %

bl
(D) % | rd 7
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